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Very Short Answer Answer Questions

1. What is the area of the triangle formed by

the points O (0, 0), A (-3,0) and B (5, 0) ?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JPyt01wfdFk3

° Watch Video Solution

2. If the centroid of the triangle formed by
points P(a, b), Q(b, ¢) and R(c, a) is at

the origin, what is the value of a + b + ¢ ?

° Watch Video Solution

3. If AOBC is a rectangle whose three vertices
are A(0,3),0(0,0) and B(5,0), then the length of

its diagonal is

| e |


https://dl.doubtnut.com/l/_JPyt01wfdFk3
https://dl.doubtnut.com/l/_TdtBK3hS3HLC
https://dl.doubtnut.com/l/_4xZ12nzxGAZ7

& Wwatch Video Solution ]

4.Find the value ofa, so that the point (8, a) lie

on the line 2x-3y =5.

o Watch Video Solution

5. Find distance between the points (0, 5) and

(-5’ O)

° Watch Video Solution



https://dl.doubtnut.com/l/_4xZ12nzxGAZ7
https://dl.doubtnut.com/l/_ctLUpr2hEole
https://dl.doubtnut.com/l/_Jgz7tQfeRmuk
https://dl.doubtnut.com/l/_dJZq99xgzTYv

6. The distance of the point P(-6, 8) from the

origin is

o Watch Video Solution

7. If the points A(1,2) , B(0,0) and C (a,b) are

collinear , then

° Watch Video Solution

8. Find the ratio in which the line segment

joining the points ( — 3,10) and (6, — 8) is


https://dl.doubtnut.com/l/_dJZq99xgzTYv
https://dl.doubtnut.com/l/_s9yohvUqPgIu
https://dl.doubtnut.com/l/_NrcgUcRKON5t

divided by ( — 1, 6).

o Watch Video Solution

9. The coordinates of the points P and Q are
respectively (4,-3) and (-1,7). Find the abscissa

of a point R on the line segment PQ such that
PR 3

PO 5°

° Watch Video Solution



https://dl.doubtnut.com/l/_NrcgUcRKON5t
https://dl.doubtnut.com/l/_4xUKqOWaFDND

10. The length of a line segment is of 10 units
and the coordinates of one end-point are
(2, — 3). If the abscissa of the other end is 10,

find the ordinate of the other end.

o Watch Video Solution

Short Answer Questions |

1. Write the coordinates of a point on X -axis

which is equidistant from the points ( — 3, 4)


https://dl.doubtnut.com/l/_n94SzoIgi0aI
https://dl.doubtnut.com/l/_fDhYuuhilZPz

and (2, 5).

o Watch Video Solution

2. Find the values of x for which the distance
between the point P(2, — 3) and Q(z, 5) is

10.

o Watch Video Solution

3. What is the distance between the points

(10cos 30°, 0) and (0, 10cos 60°) ?


https://dl.doubtnut.com/l/_fDhYuuhilZPz
https://dl.doubtnut.com/l/_8DPzEoB2aMIg
https://dl.doubtnut.com/l/_sQ9cD3uVFUsl

° Watch Video Solution

4.1f A(—1, 3), B(1l, —1)and C(5, 1) are
the vertices of a triangle ABC', what is the

length of the median through vertex A ?

° Watch Video Solution

5. Write the ratio in which the line segment
joining the points A(3, — 6) and B(5, 3) is

divided by X -axis.

| e |


https://dl.doubtnut.com/l/_sQ9cD3uVFUsl
https://dl.doubtnut.com/l/_EjzvYyN1ECOH
https://dl.doubtnut.com/l/_Oa7bTesFlFr2

& watch Video Solution I

6. The point P (5,-3) is one of the two points of
trisection of line segment joining the points

A(7,-2) and B(1,-5).

° Watch Video Solution

7. /A ABC with vertices A(0-2,0),B(2,0) and
C(0,2) is similar to /A DEF with vertices

D(-4,0) ,E(4,0) and F(0,4).

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Oa7bTesFlFr2
https://dl.doubtnut.com/l/_tCWVpvaUMh6s
https://dl.doubtnut.com/l/_k0m7GIBIx5ek

8. Point P(0,2) is the point of intersection of Y-
axis and perpendicular bisector of line

segment joining the points A(-1,1) and B(3,3).

° Watch Video Solution

. Check whether

(5,\ 2),\ (6,\ 4)\ and\ (7,\ 2) are

the vertices of an isosceles triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_k0m7GIBIx5ek
https://dl.doubtnut.com/l/_AHrC8PpfKdFm
https://dl.doubtnut.com/l/_zeWEMjbkVQnP

10. If (1, 2), (4, y), (x, 6) and (3, 5) are the vertices

of a parallelogram taken in order, find x and y.

o Watch Video Solution

11. Find the ratio in which the y-axis divides the
line segment joining the points (5, — 6) and
(—1, —4).Also,find the coordinates of the

point of division.

° Watch Video Solution



https://dl.doubtnut.com/l/_zeWEMjbkVQnP
https://dl.doubtnut.com/l/_M8n0jDUIhqRU
https://dl.doubtnut.com/l/_mrfCfc0ze3oR

12.. Let P and Q be the points of trisection of
the line segment joining the points A(2, -2)
and B(-7, 4) such that P is nearer to A. Find the

coordinates of P and Q.

o Watch Video Solution

13. Find the ratio in which the point ( — 3, p)
divides the line segment joining the points
(=5, —4) and ( — 2, 3) . Hence, find the

value of p.


https://dl.doubtnut.com/l/_mrfCfc0ze3oR
https://dl.doubtnut.com/l/_bJzPUbHI7sFB
https://dl.doubtnut.com/l/_ODvMqlVw8tTn

° Watch Video Solution

14. The x-coordinate of a point P is twice its y-
coordinate. If P is equidistant from
Q(2, —5)andR( — 3,6), then find the

coordinates of P.

o Watch Video Solution

Short Answer Questions li



https://dl.doubtnut.com/l/_ODvMqlVw8tTn
https://dl.doubtnut.com/l/_7CmueTYmMjiD

1. Determine if the points (1, 5), (2, 3) and (-2,

-11) are collinear.

o Watch Video Solution

2. Find the distance between the following
pairs of points:

(I) (5’7)’ (-1’3) (“) (a’b)’ (-a’-b)

o Watch Video Solution



https://dl.doubtnut.com/l/_s1Ys6uJUmTmK
https://dl.doubtnut.com/l/_yP0AOGb9ihjc

3. Name the type of quadrilateral formed, if
any, by the following points, and give reasons
for your answer: (i)\ (1\ 2),\ (1,\ 0),\ (1\ 2),\ (3,\ 0)
(i D\ (3,\ 5),(3,\ 1,0\ 3),(1,\ 4)(i i )\ (4,\ 5),\ (7,\

6),\

o Watch Video Solution

4. Find the values of y for which the distance

between the points P(2, 3) and Q(10, y)is

10 units.

| & I


https://dl.doubtnut.com/l/_ZdAchnCtkJv6
https://dl.doubtnut.com/l/_qdmud5JhNDQh

| ¥ Watch Video Solution |

5. If Q(0, 1) is equidistant from P(5, — 3)
and R(z, 6) , find the values of z . Also, find

the distances QR and PR .

o Watch Video Solution

6. Find the point on the z-axis which is

equidistant from (2, — 5) and ( — 2, 9).

o Watch Video Solution



https://dl.doubtnut.com/l/_qdmud5JhNDQh
https://dl.doubtnut.com/l/_owAI5v3ZuTOF
https://dl.doubtnut.com/l/_xgppt5GDLuho

7.Find a relation between x and y if the points

(%,Y), (1,2) and (7, 0) are collinear.

° Watch Video Solution

8. Find a relation between z and y such that
the point (z, y) is equidistant from the

points (3, 6) and ( — 3, 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_02Yvd10UnAQA
https://dl.doubtnut.com/l/_MjL7G6Mfjtzk

9. Find the coordinates of the point which
divides the line joining of (-1, 7) and (4,-3) in

the ratio 2:3.

o Watch Video Solution

10. Find the co - ordinates of the points of
trisection of the line segment joining (4, — 1)

and ( — 2, —3).

o Watch Video Solution



https://dl.doubtnut.com/l/_zA992ALSnJo2
https://dl.doubtnut.com/l/_amFQhmDRPGcc
https://dl.doubtnut.com/l/_qXrwRBEro5u1

1. Find the ratio in which [the line segment
joining A(1, 5) and B(4, 5) is divided by the
xaxis. Also find the coordinates of the point of

division.

° Watch Video Solution

12.1f (1, 2), (4, ), (x, 6) and (3, 5) are the vertices

of a parallelogram taken in order, find x and y.

o Watch Video Solution



https://dl.doubtnut.com/l/_qXrwRBEro5u1
https://dl.doubtnut.com/l/_A7WT87uqAJug
https://dl.doubtnut.com/l/_7jmxLFb0mWhk

13. Find the coordinates of a point A , here
AB is a diameter of the circle whose centre is

(2, —3)and B(1, 4).

o Watch Video Solution

4. If A and B are (2, 2)and (2, 4),
respectively, find the coordinates of P such

3
that AP = 7ABand P lies on the line

segment AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_7jmxLFb0mWhk
https://dl.doubtnut.com/l/_YV3uprUNSZVe
https://dl.doubtnut.com/l/_xTscNMNHISG6

15. Find the coordinates of the points which
divide the line segment joining
A(2,\ 2)\ and\ B(2,8) into four equal

parts.

o Watch Video Solution

16. Find the area of a rhombus if its vertices

(3,0), (4, 5), (-1,4) and (-2,-1) are taken in order.

° Watch Video Solution



https://dl.doubtnut.com/l/_xTscNMNHISG6
https://dl.doubtnut.com/l/_8NHgQLLOcYBi
https://dl.doubtnut.com/l/_5rZ6BoukUlnX

17. Find the area of the triangle whose vertices

are: (-5,-1), (3,-5), (5,2)

o Watch Video Solution

18. If the point A(O, 2) is equidistant from the

points B(3, p) and C(p, 5), find p.

° Watch Video Solution

19. If the points A (-2, 1), B (a, b) and C (4,-1) are

collinear and a -b=1, find the values of a and b.


https://dl.doubtnut.com/l/_5rZ6BoukUlnX
https://dl.doubtnut.com/l/_HfPKYJ1Rm6g6
https://dl.doubtnut.com/l/_rjnRXFyTpJ2Y

° Watch Video Solution

20. If the point P(k-1, 2) is equidistant from the

points A(3, k) and B(k, 5), find the values of k.

o Watch Video Solution

21. Find the ratio in which the line segment
joining the points A(3, —3) and B( — 2, 7)
is divided by x-axis. Also, find the coordinates

of the point of division.

| e |


https://dl.doubtnut.com/l/_rjnRXFyTpJ2Y
https://dl.doubtnut.com/l/_QWEoAd4Xd46k
https://dl.doubtnut.com/l/_lQtHNXZ8imYH

& Wwatch Video Solution I

22. Find the values of k, if the points A (k+1,2k)

,B (3k,2k+3) and C (5k-1,5k) are collinear.

o Watch Video Solution

23. If the point P(x, y) is equidistant from the
points A(a + b, b-a) and B(a-b, a + b). Prove that

bx = ay.

o Watch Video Solution



https://dl.doubtnut.com/l/_lQtHNXZ8imYH
https://dl.doubtnut.com/l/_fFhqD2aUbsTC
https://dl.doubtnut.com/l/_DXmmVtuvf89l

24. If the point C (-1, 2) divides internally the
line segment joining the points A(2, 5) and B
(xy) in the ratio of 3:4, find the value of

:132—|—y2.

o Watch Video Solution

Long Answer Questions

1. Find the value of 'k, for which the points are

collinear: (7,-2), (5, 1), (3, k).

| e |


https://dl.doubtnut.com/l/_MiLJJKIrKsLM
https://dl.doubtnut.com/l/_rstrdAb8BVBe

& watch Video Solution I

2. Find the area of the triangle formed by
joining the mid-points of the sides of the
triangle whose vertices are
(0, —1),(2,1) and (0, 3). Find the ratio of

this area to the area of the given triangle.

° Watch Video Solution

3. Find the area of the quadrilateral whose

vertices taken in order are (-4, -2), (-3,5), (3,-2)


https://dl.doubtnut.com/l/_rstrdAb8BVBe
https://dl.doubtnut.com/l/_qygQCjqsyN6E
https://dl.doubtnut.com/l/_8a8FvKhV0eqE

and (2,3)

o Watch Video Solution

4. You have studied in Class IX, (Chapter 9.
Example 3), that a median of a triangle divides
it into two triangles of equal areas. Verify this

result for A ABC whose vertices are

A(4, 6), B(3, 2) and C(5, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_8a8FvKhV0eqE
https://dl.doubtnut.com/l/_HmjN38F2lTX7

5. Find the ratio in which the point P(z, 2)

divides the line segment joining the points
A(12,5) and B(4, — 3). Also find the value

of x.

o Watch Video Solution

6.1f A (4, 2),B (7,6) and C (1, 4) are the vertices
of a AABC and AD is its median, prove that
the median AD divides AABC into two

triangles of equal areas.

| & I


https://dl.doubtnut.com/l/_HLEBHUXbhip5
https://dl.doubtnut.com/l/_dXcf8pNKIyVD

| ¥ Watch Video Solution |

7.1f the points A(2,4) is equidistant from P (3,8)
and Q (-10,y), then find the value of y . Also ,

find distance PQ.

o Watch Video Solution

8. The base BC of an equilateral triangle ABC
lies on y-axis. The coordinates of point C are
(0, -3). The origin is the midpoint of the base.

Find the coordinates of the points A and B.


https://dl.doubtnut.com/l/_dXcf8pNKIyVD
https://dl.doubtnut.com/l/_Lag9Gf1RQ74j
https://dl.doubtnut.com/l/_zsnGCoJt3233

Also, find the coordinates of another point D

such that ABCD is a rhombus.

° Watch Video Solution

9. Prove that the area of a triangle with
vertices (t, t -2), (t +2, t + 2) and(t + 3, t) is

independent of t.

° Watch Video Solution



https://dl.doubtnut.com/l/_zsnGCoJt3233
https://dl.doubtnut.com/l/_nvxS3u1LNBDi

10. The coordinates of A, B,C are (6,3),
(—3,5), (4, — 2) respectively and P is any
point (x, y) . Show that the ratio of the areas

of the triangles APBC and AABC is
T+ y— 2
- :

o Watch Video Solution

1. The vertices of a
AABCareA(4,6), B(1,5) and C(7,2). A

line is drawn to intersect side AB and AC at D


https://dl.doubtnut.com/l/_R4BkP2iVT03V
https://dl.doubtnut.com/l/_ADfx5qHJTryX

and E respectively, such that

AD _AB _ Calculate th f
1B AC 4 alculate the area o

AADE and compare it with the area of

AABC.

o Watch Video Solution

Hots Higher Order Thinking Skllls

1. The line joining the points (2, 1) and

(5, — 8) is trisected at the points P and @ . If


https://dl.doubtnut.com/l/_ADfx5qHJTryX
https://dl.doubtnut.com/l/_mNw92xdxMV0M

point P lies on the line 2x —y+ k = 0. Find

the value of k.

° Watch Video Solution

2. Prove that the diagonals of a rectangle

bisect each other and are equal.

o Watch Video Solution

3. In what ratio does the y-axis divide the line

segment joining the point P( — 4, 5) and


https://dl.doubtnut.com/l/_mNw92xdxMV0M
https://dl.doubtnut.com/l/_CwsUMjJGYVpn
https://dl.doubtnut.com/l/_GSBAKsw7O7Hk

Q(3, — 7) ? Also, find the coordinates of the

point of intersection.

° Watch Video Solution

4. Find the centre of a circle passing through

the points (6, 6), (3, 7) and (3, 3).

o Watch Video Solution

5. If the coordinates of the mid-points of the

sides of a triangle are


https://dl.doubtnut.com/l/_GSBAKsw7O7Hk
https://dl.doubtnut.com/l/_8Xu2lnjKm9EL
https://dl.doubtnut.com/l/_bLa6XIAnVofz

(1,1), (2, — 3)and(3,4)- Find its (i) centroid

(ii) in-centre.

° Watch Video Solution

6. Determine the ratio in which the line 2x +y -
4 = 0 divides the line segment joining the

points A(2,-2) and B(3, 7).

|
I | '

|
A(2,-2) C B(3,-7)

o Watch Video Solution



https://dl.doubtnut.com/l/_bLa6XIAnVofz
https://dl.doubtnut.com/l/_Ffnl6rc0kXhP
https://dl.doubtnut.com/l/_9QQZPokELsxr

7.Show that AABC with vertices A(-2, 0), B(O,
2) and C(2, 0) is similar to ADEF with

vertices D(-4, 0), F(4, 0) and E(O, 4).

° Watch Video Solution

Proficiency Exercise Very Short Answer Questions

1. The point which divides the line segment
joining the points (7,-6) and (3,4) in ration 1: 2

internally lies in the

O Watch Video Solution



https://dl.doubtnut.com/l/_9QQZPokELsxr
https://dl.doubtnut.com/l/_ZIg3aETDfc51

2.If P (%, 4) is the mid - point of the line

segment joining the points Q(-6,5) and R(-2,3),

then the value of a is

o Watch Video Solution

3. A line intersects the y-axis and x-axis at the
points P and Q respectively. If (2,-5) is the mid-
point of PQ then find the coordinates of P and

0.

| oo |


https://dl.doubtnut.com/l/_ZIg3aETDfc51
https://dl.doubtnut.com/l/_r7qRfHqcYWWJ
https://dl.doubtnut.com/l/_2ztAzQHVHAwo

| & Watch Video Solution

4. The perpendicular bisector of the line
segment joining the points A(1,5) and B(4,6)

cuts the Y-axis at

o Watch Video Solution

5.if a line/ passes through (k, 2k), (3k, 3k)
and (3,1),k # 0 and the distance from the

origin to the line /is — thenm = ...
m

I o Watch Video Solution


https://dl.doubtnut.com/l/_2ztAzQHVHAwo
https://dl.doubtnut.com/l/_inVf4uyVrazP
https://dl.doubtnut.com/l/_txQ4nZLbOmj4

6. If A(5, 2), B(2, -2) and C(-2, t) are the vertices
of a right triangle with ZB = 90° then find

the value of t.

o Watch Video Solution

7.1f the area of a triangle formed by the points
(k,2k), (-2, 6) and (3, 1) is 20 square units, then

find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_txQ4nZLbOmj4
https://dl.doubtnut.com/l/_6bQ8uvOrRnbC
https://dl.doubtnut.com/l/_f1XPILjgphjT

8. Prove that the points A(a, 0), B(0, b) and C(1,

1 1
1) are collinear, if — + — = 1.
a b

° Watch Video Solution

9. Find the ratio in which the x-axis divides the

segment joining (-3, -5) and (-1, 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_f1XPILjgphjT
https://dl.doubtnut.com/l/_RXlRDJgPENkr
https://dl.doubtnut.com/l/_1nKvjyR7Py7J

10. If the centroid of the triangle formed by
the points (a,b) , (b,c) and (c,a) is at the origin,

then find the value of a® + b + ¢°.

o Watch Video Solution

11. Two vertices of a triangle are at (- 3, 1) and
(0,2) and the centroid is at the origin. Find its

third vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_40B3wC5F9WBm
https://dl.doubtnut.com/l/_JUwWi2V8cdkR
https://dl.doubtnut.com/l/_8o6xKyNibvxS

12. What is the ratio in which the point

—2
P(T’ 6) divides the line joining of A (-4, 3)

and B (2, 8)?

° Watch Video Solution

Proficiency Exercise Short Answer Questions |

1. What is the distance between the points

A(c, 0) and B(0, —c¢)?

o Watch Video Solution



https://dl.doubtnut.com/l/_8o6xKyNibvxS
https://dl.doubtnut.com/l/_RJuTJYN5NJT4

2. If A(1, 2), B(4, 3) and C(6, 6) are the three
vertices of a parallelogram ABCD, find the

coordinates of the fourth vertex D.

o Watch Video Solution

3. If (2, p) is the midpoint of the line segment
joining the points A(6, -5) and B(-2, 11), find the

value of p.

o Watch Video Solution



https://dl.doubtnut.com/l/_oevO7bYej4ad
https://dl.doubtnut.com/l/_nIBQ5UZrYCNn
https://dl.doubtnut.com/l/_7emBovBJeAOq

4. If A(2,2), B( — 4, — 4)andC(5, — 8) are
the vertices of a triangle, then the lengthof

the median through vertex C'is.

o Watch Video Solution

5. What is the distance between the points A

(5cos 6, 0) and B (0, 5sin 0)?

° Watch Video Solution



https://dl.doubtnut.com/l/_7emBovBJeAOq
https://dl.doubtnut.com/l/_W0X2bIL3dDNS

6. Write the ratio in which the line segment
joining points (2, 3) and (3, — 2) is divided

by X axis.

o Watch Video Solution

7. If the distance between points (x, 0) and

(0, 3) is 5, what are the values of x ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZENJY2RZ34dm
https://dl.doubtnut.com/l/_uCd8B8Iq4ZlO

8. Write the coordinates ot the point dividing
line segment joining the points (1, 5) and (-5,1)

internally in the ratio 1: 4.

o Watch Video Solution

9. What is the area of the triangle formed by

the points 0(0,0), A(4,0) and B(0,3)?

° Watch Video Solution



https://dl.doubtnut.com/l/_iSCKtSz6Udc2
https://dl.doubtnut.com/l/_K3KnxB7KEa08

10. In Q. No. 169, what is the value of

o Watch Video Solution

1. If the mid-point of a segment joining

+1
A(%, yT) and B(x + 1y- 3) is C (5, - 2),
find xy.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hw8IqcgRgRyc
https://dl.doubtnut.com/l/_JRyTbU1mTU1H

12. Find the distance between the points

(5:2)a(5)

o Watch Video Solution

13. Find the value of ¢ so that the point (3,c)

lies on the line represented by 2x-3y+5=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_geoxvmCiwiX4
https://dl.doubtnut.com/l/_Q4LQ0tKvvsXk

14. Prove that the points (3, 0), (6, 4) and (-1, 3)
are the vertices of a right angled isosceles

triangle.

o Watch Video Solution

15. Prove that the points (2,-2), (-2, 1) and (5, 2)
are the vertices of a right angled triangle. Also

find the area of this triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_hkE4WQNnw4Wr
https://dl.doubtnut.com/l/_jLoTi5M0swqs
https://dl.doubtnut.com/l/_EdjmIXDsogaP

16. Point A (2, -3) lies on the line segment

joining the points P(-4,-3) and Q (1, -3).

o Watch Video Solution

17. The points A(3,1) , B (12,-2) and C(0,2) cannot

be vertices of a triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_EdjmIXDsogaP
https://dl.doubtnut.com/l/_INzCh4BKWWKp

18. Point P (0, - 7) is the point of intersection of
y-axis and perpendicular bisector of line
segment joining the points A (-1, 0) and B (7,

-6).

° Watch Video Solution

19. The points A(4,3), B(6,4), C(5,-6) and D(-3,5)

are vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_MuZW6SxyF86x
https://dl.doubtnut.com/l/_6pB3oPQTerVq
https://dl.doubtnut.com/l/_DhTmxreD2M2k

20.The points P (-2,4) lies on a circle of radius

6 and centre (3,5).

o Watch Video Solution

21. The points (1, 1), (13, 1) and (13, 6) are the

vertices of a right triangle.

o View Text Solution



https://dl.doubtnut.com/l/_DhTmxreD2M2k
https://dl.doubtnut.com/l/_EEQR1Nrbi2EF

22. A circle has its centre at the origin and a
point P (5,0) lies on it . The point Q (6,8) lies

outside the circle.

o Watch Video Solution

23. The points A (-6,10), B(-4,6) and C(3,-8) are
collinear such that

2
AB = — —AC.
5 C

o Watch Video Solution



https://dl.doubtnut.com/l/_2nlRqVXzIpmP
https://dl.doubtnut.com/l/_0c0qpwCKFWiP
https://dl.doubtnut.com/l/_wbemW2EM2V5E

24. In Fig. ABC is a triangle co-ordinates of
whose vertex A are (0, —1). D and E
respectively are the mid-points of sides AB and
AC their co-ordinates are (1,0) and (0, 1)
respectively. If F is the mid-point of BC find the

areasof A\ ABC and A DEF

o Watch Video Solution

25. If the points A(4, 3)andB(z, 5) are on the

circle with centre O(2, 3), find the value of .

o Watch Video Solution



https://dl.doubtnut.com/l/_wbemW2EM2V5E
https://dl.doubtnut.com/l/_LByqzM47Dj6l

26. Find a point which is equidistant from the
points A(-5,4) and B (-1,6). How many such

points are there ?

o Watch Video Solution

27. Find the points on the X-axis which are at
distance of 2,/5 from the point (7,4) . How

many such points are there ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LByqzM47Dj6l
https://dl.doubtnut.com/l/_jk8IBHJ4uoGP
https://dl.doubtnut.com/l/_AogRf2IBsU3e

28. What type of quadrilateral do the points A
(2,-2), B (7,3) C(11,-1) and D (6,-6) taken in that

order from?

o Watch Video Solution

29. Find the point on x-axis which s
equidistant from the points ( — 2, 5) and

(2, —3).

o Watch Video Solution



https://dl.doubtnut.com/l/_AogRf2IBsU3e
https://dl.doubtnut.com/l/_MNWvvoKoeoN6
https://dl.doubtnut.com/l/_HBTnw3ZZ6znP

30. Find the coordinates of the point Q on the
X- axis which lies on the perpendicular
bisector of the line segment joining the points
A (-5,2) and B (4,-2). Name the type of triangle

formed by the points Q , A and B.

o Watch Video Solution

31. Show that four points (1, -2), (3, 6), (5, 10)

and (3, 2) are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_PEWae3pQMVh2
https://dl.doubtnut.com/l/_lr6qgOH31tF0

32. Name the type of triangle formed by the

points A (-5,6) , B (-4,-2) and C (7,5).

o Watch Video Solution

33. In the following examples , can the
segment joining the given points from a
triangle ? If triangle is formed , state the type
of the triangle considering sides of the

triangle.


https://dl.doubtnut.com/l/_lr6qgOH31tF0
https://dl.doubtnut.com/l/_FmFCw3LQSSgY
https://dl.doubtnut.com/l/_Z2Zws3OD2Cyw

(iii) A

(\/Z \/§)7B( - \/ia - \/5)70( B \/6? \/6)

° Watch Video Solution

34. Do the points A(3, 2), B( —2, — 3)
and C(2, 3) form a triangle? If so, name the

type of triangle formed.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z2Zws3OD2Cyw
https://dl.doubtnut.com/l/_q9LwdlE1kbCY

35. The line segment joining the points (3, -4)
and (1, 2) is trisected at the points P and Q. If

the co-ordinates of P and Q are

5
(p, — 2) and (g,q) respectively, find the

values of p and q.

o Watch Video Solution

36. If the point P(m, 3) lies on the line

2
segment joining the points A( — 6) and

B(2, 8),find the value of m .

| = 1


https://dl.doubtnut.com/l/_pkAaNgA1P2uS
https://dl.doubtnut.com/l/_p2OEqwRJUNVx

I &9 Watch Video Solution I

37.Point P divides the line segment joining the
points A(-1,3) and

B(9,8) such that APk If P i the i
8) such that == = - les on the line

x—y+2=0,findk.

° Watch Video Solution

38. Point A lies on the line segment PQ joining

P(6, -6) and Q(-4, -1) in such a way that


https://dl.doubtnut.com/l/_p2OEqwRJUNVx
https://dl.doubtnut.com/l/_osA9cPgzFGCU
https://dl.doubtnut.com/l/_dwpymSDifTPj

Pa If the point A also lies on the i
—_— = —. e poin also lIes on e line
PQ 5 P

3x+k(y+1) = 0, find the value of k.

o Watch Video Solution

39. If R(x,y) is a point on the line segment
joining the points P(a, b)andQ(b, a), then

provethatx + y=a + b

o Watch Video Solution



https://dl.doubtnut.com/l/_dwpymSDifTPj
https://dl.doubtnut.com/l/_CrOOLDorjEuV

40. Find the ratio in which the line x + 3y -14 =
O divides the line segment joining the points A

(-2,4) and B(3. 7).

o View Text Solution

41. If the points (p, q), (m, n) and

(p—m, ¢g—n) are collinear, show that

pn = gm.

o Watch Video Solution



https://dl.doubtnut.com/l/_fTdujpC9GZz2
https://dl.doubtnut.com/l/_ZyWBcZ6pi9GZ
https://dl.doubtnut.com/l/_ccxFWVtTXlEG

42, Prove that the points
(a,b+c), (b,c+ a) and (c,a + b) are

collinear.

o Watch Video Solution

43. If the mid-point of the line segment joining
the points A (3, 4) and B (k, 6) is P (xyy) and
Plies on the line x + y -10 = 0, find the value of

k.

° View Text Solution



https://dl.doubtnut.com/l/_ccxFWVtTXlEG
https://dl.doubtnut.com/l/_a8XhaLfZGDJC

44, If (1, 2), (4, y), (x, 6) and (3, 5) are the
vertices of a parallelogram taken in order, find

x and y.

o Watch Video Solution

45. If P (9a-2,-b) divides line segment joining A
(3a+1,-3) and B(8a,5) in the ratio 3: 1, then find

the values of a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_tY8UEVo98OJw
https://dl.doubtnut.com/l/_Blsjlk1yvL2i
https://dl.doubtnut.com/l/_SEIs7acdYHPW

46. In what ratio does the x-axis divide the line
segment joining the points (-4,-6) and (-1,7)?

Find the co-ordinates of the point of division.

o Watch Video Solution

47.Find the area of the triangle whose vertices

are (- 4, 8), (6, - 6) and (-3, -2).

° Watch Video Solution



https://dl.doubtnut.com/l/_SEIs7acdYHPW
https://dl.doubtnut.com/l/_kzzhffTAYh4C

48.1f D Lo E(73)and F T
. 575 J-E(73)an 505 | are

the mid - points of sides of A ABC, then find

the area of the A\ ABC.

° Watch Video Solution

49, Find the area of the triangle ABC with
A(1, — 4) and mid-points of sides through A

being (2, — 1)and(0, — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_wL8RT6i2q1Xr
https://dl.doubtnut.com/l/_x4uSRoiexVba
https://dl.doubtnut.com/l/_VuZMyb7wgdfm

50. If (a,b) is the mid - point of the line
segment joining the points A (10,-6), B(k,4) and
a-2b =18, then find the value of k and the

distance AB.

o Watch Video Solution

51. If (a,b) is the mid - point of the line
segment joining the points A (10,-6), B(k,4) and
a-2b =18, then find the value of k and the

distance AB.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_VuZMyb7wgdfm
https://dl.doubtnut.com/l/_jMzCFtr0JSE1

52. Find the ratio in which the line
2z +3y — 5 = 0 divides the line segment
joining the points (8,-9) and (2,1). Also find the

coordinates of the points of division.

o Watch Video Solution

53. If the centre of a circle is (2a,a-7) ,then Find
the value of a, if the ciecle passes through the

point (11,-9) and has diameter 104/2 units .



https://dl.doubtnut.com/l/_jMzCFtr0JSE1
https://dl.doubtnut.com/l/_yxfGQUUYWhFB
https://dl.doubtnut.com/l/_tQxkVuIVXh66

I o Watch Video Solution

54.Find the coordinates of points which divide
the line segment joining A (5, - 6) and B (-1, 8)

into four equal parts.

o Watch Video Solution

55. Find the value of k for which the points
A(k+1, 2k), B(3k, 2k +3) and C(5k-1, 5k) are

collinear.

e @@ |


https://dl.doubtnut.com/l/_tQxkVuIVXh66
https://dl.doubtnut.com/l/_QXCkUDmzQxfd
https://dl.doubtnut.com/l/_e49m0cfp0KoT

L___Watch Video Sojution )

56. Find the coordinates of the point R on the
line segment joining the points P(-1,3) and Q

3
(2,5) such that PR = 5 PO.

o Watch Video Solution

57. Find the third vertex of a triangle, if two of
its vertices areat ( — 3, 1) and (0, — 2) and

the centroid is at the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_e49m0cfp0KoT
https://dl.doubtnut.com/l/_K8Z8HLtGpACE
https://dl.doubtnut.com/l/_yVXpwkt1Tora

58. Find the area of the quadrilateral whose
vertices taken in order are (-4, -2), (-3,5), (3,-2)

and (2,3)

o Watch Video Solution

59. The area of a triangle is 5 square unit. Two
of its vertices are (2, 1), (3, -2) and the third
vertex lies on the line y =  + 3. The third

vertex can be

| s |


https://dl.doubtnut.com/l/_yVXpwkt1Tora
https://dl.doubtnut.com/l/_wfcz3rSn7sTw
https://dl.doubtnut.com/l/_id002Hv4CS6a

| @ Watch Video Solution ]

60. If the points A (2,9), B (a,5) and C (5,5) are
the vertices of a /A ABC. Right angled at B,

then find the values of a and hence the area of

AN\ ABC.

° Watch Video Solution

61. The vertices of a triangle are (a, b - ¢), (b, c -
a) and (c, a - b). Prove that its centroid lies on

X-axis.


https://dl.doubtnut.com/l/_id002Hv4CS6a
https://dl.doubtnut.com/l/_FxlrYYgaN87O
https://dl.doubtnut.com/l/_Ve1PStOneodo

° Watch Video Solution

62. The base PQ of two equilateral triangles
PQR and PQR with side 2a lies along y-axis
such that the mid-point of PQ is at the origin.
Find the coordinates of the vertices R and R of

the triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ve1PStOneodo
https://dl.doubtnut.com/l/_MEsC415qRoOa

63. If the points (a, b), (a', b') and (a-a, b-b') are

collinear, show that ab' =a'b.

o Watch Video Solution

64. Show that the points (az, O), (O, b2) and

: . 1
(1, 1) are collinear if g + b_2 = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_NtagqBOXvJuK
https://dl.doubtnut.com/l/_UgEIdu96Uq7q

65. The coordinates of A, B, C are
(6, 3), (—3, 5) and (4, — 2) respectively
and P is any point (z, y) . Show that the ratio

of the areas of triangles PBC and ABC is
T+ y— 2
- :

o Watch Video Solution

66. Show that (1, -1) is the centre of the circle
circumscribing the triangle whose vertices are

(4, 3), (-2, 3) and (6, -1).

| & ]


https://dl.doubtnut.com/l/_Gi7OvfU0DAg4
https://dl.doubtnut.com/l/_rzIKKLkfmEEa

| ' Watch Video Solution |

67.If the point A(-2,1), B (a, b) and C (4, -1) are

collinear and a-b =1, find the values of a and b.

o Watch Video Solution

68. If the points P(-3, 9), Q(a, b) and R(4, -5) are
collinera and a+b =1, find the values of a and

b.

o Watch Video Solution



https://dl.doubtnut.com/l/_rzIKKLkfmEEa
https://dl.doubtnut.com/l/_IjilTSrE1vZO
https://dl.doubtnut.com/l/_LnPyQaBYqyxU

69. If the points A( — 1, —4), B(b, ¢) and
C(5, — 1) are collinear and 2b + ¢ = 4, find

the values of band c.

o Watch Video Solution

70. If the point P(2, 2) is equidistant from the
points A(-2, k) and B(-2k, -3), find k. Also, find

the length of AP.

o Watch Video Solution



https://dl.doubtnut.com/l/_OEA21AEjypCs
https://dl.doubtnut.com/l/_zRMx8RfWIT0Y
https://dl.doubtnut.com/l/_JYoaiKUP2gmS

71. Points A(-1,y) and B(5, 7) lie on a circle with
centre O(2, -3y) . Find the values of y. Hence,

find the radius of the circle.

o Watch Video Solution

72. the value of k for which the points
3k — 1,k —2),(k,k—T7) and

(k—1, — k — 2) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_JYoaiKUP2gmS
https://dl.doubtnut.com/l/_8vh9FE2bRyMQ
https://dl.doubtnut.com/l/_LDUpDlqA7g6m

73.Points P, Q, R and S divide the line segment
joining the points A(1, 2) and B(6, 7) in five
equal parts. Find the coordinates of the point

P.

o Watch Video Solution

Proficiency Exercise Long Answer Questions

1. If the points A (1,2), B (2,3) , C *3,2) and D

(-4-3) form a parallelogram , them find the


https://dl.doubtnut.com/l/_LDUpDlqA7g6m
https://dl.doubtnut.com/l/_8lGib8VIBAkU

value of a and height of the parallelogram

taking AB as base.

° Watch Video Solution

2.A(6, 1), B(8, 2) and C(9, 4) are the vertices of a

parallelogram ABCD. If E is the midpoint of DC,

find the area of AADE.

° Watch Video Solution



https://dl.doubtnut.com/l/_8lGib8VIBAkU
https://dl.doubtnut.com/l/_lkMkdHXvACsy

3. Find the area of the triangle formed by
joining the mid-points of the sides of the
triangle, whose vertices are (2, - 4), (6, 2) and (-
4, 6). Find the ratio of this area to the area of

the given triangle.

o Watch Video Solution

4., The mid-points D, E, F of the sides of a
triangle ABC are (3, 4), (8,9) and (6, 7). Find the

coordinates of the vertices of the triangle.

| & I


https://dl.doubtnut.com/l/_Fziz3YY43H0T
https://dl.doubtnut.com/l/_ncbTjOiHQyex

| ¥ View Text Solution |

5. Find the coordinates of the third vertex of

an equilateral triangle, whose two vertices are

(3,4) and (-2, 3).

o View Text Solution

6. Show that the points (a,a), ( —a, — a)
and ( — 4/3a,+/3a) are the vertices of an

equilateral triangle. Also, find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_ncbTjOiHQyex
https://dl.doubtnut.com/l/_FdlEeaEEezuk
https://dl.doubtnut.com/l/_9ojRs5ipduqn

7. If A3, 4) and C (1, -1) are two opposite
angular points of square ABCD, find the

coordinates of other two vertices.

o View Text Solution

8. The points A
(z1,y1), B(z2,y2) and C(z3,y3;) are the
vertices of /\ ABC.

(i) The median from A Meets Bc at D. Find the


https://dl.doubtnut.com/l/_9ojRs5ipduqn
https://dl.doubtnut.com/l/_GhQ491KNVU5Q
https://dl.doubtnut.com/l/_ziw3zTZb9IRc

coordinates of the points D.

(i) Find the coordinates of the point P on Ad
such that AP: PD = 2:1.

(iii) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of

the /A ABC?

° Watch Video Solution



https://dl.doubtnut.com/l/_ziw3zTZb9IRc

0. The points A
(%1, Y1), B(x2, ¥2) and C(z3,y3) are the
vertices of /A ABC.

(i) The median from A Meets Bc at D. Find the
coordinates of the points D.

(i) Find the coordinates of the point P on Ad
such that AP: PD = 2:1.

(iii) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of

the A ABC?


https://dl.doubtnut.com/l/_BJYIJAbCPSL4

o Watch Video Solution

10. The points A
(z1,11), B(@2, y2) and C(z3,y;3) are the
vertices of /A ABC.

(i) The median from A Meets Bc at D. Find the
coordinates of the points D.

(i) Find the coordinates of the point P on Ad
such that AP: PD = 2:1.

(iii) Find the coordinates of points Q and R on

medians BE and CF, respectively such that

BQ:QFE =2:1 and CR: RF = 2:1.


https://dl.doubtnut.com/l/_BJYIJAbCPSL4
https://dl.doubtnut.com/l/_d6A2btFcKp1V

What are the coordinates of the centroid of

the /A ABC?

° Watch Video Solution

1. The points A(zy,¥y:), B(zy,y2) and
C(x3, y3) are the vertices of A ABC.
What are the coordinates of the centroid of

the triangle ABC.

o View Text Solution



https://dl.doubtnut.com/l/_d6A2btFcKp1V
https://dl.doubtnut.com/l/_Zjy1kcYu7tbk

12. If
A(-3,5),B(—-2, —7),C(1, — 8)andD(6, 3)
are the vertices of a quadrilateral ABCD find its

area.

o Watch Video Solution

13. If A(4, —6),B(3, —2) and C(5,2) are
the vertices of a AABC and AD is its
median, prove that the median AD divides

A ABC into two triangles of equal areas.

| & I


https://dl.doubtnut.com/l/_UlxVwMjKrRLT
https://dl.doubtnut.com/l/_zyRBSFyQZ1B2

| ¥ Watch Video Solution |

14. The midpoint P of the line segment joining
the points A(-10, 4) and B(-2, 0) lies on the line
segment joining the points C(-9, -4) and D(-4,
y). Find the ratio in which P divides CD. Also

find the value of y.

o Watch Video Solution

15. If A(-4, 8), B(-3,-4), C(0,-5) and D(5, 6) are the

vertices of a quadrilateral ABCD, find its area.


https://dl.doubtnut.com/l/_zyRBSFyQZ1B2
https://dl.doubtnut.com/l/_rQ6cm5yXmzC8
https://dl.doubtnut.com/l/_uCADE8OX1b6o

o View Text Solution

16. Find the values of k so that the area of the
triangle with vertices (1, -1), (-4, 2k), and (-k, - 5)

is 24 sq. units.

o View Text Solution

17. The base QR of an equilateral triangle PQR
lies on x-axis. The coordinates of the point Q

are (-4, 0) and origin is the midpoint of the


https://dl.doubtnut.com/l/_uCADE8OX1b6o
https://dl.doubtnut.com/l/_oYrYATxyUgQL
https://dl.doubtnut.com/l/_U4OH91dbGv1F

base. Find the coordinates of the points P and

R.

° Watch Video Solution

18. Find the area of quadrilateral ABCD, the co-
ordinates of whose vertices are A(1, 2), B(6, 2),

C(5, 3) and D(3,4).

° View Text Solution

Self Assessment Test


https://dl.doubtnut.com/l/_U4OH91dbGv1F
https://dl.doubtnut.com/l/_DQYnxnhfDrwd
https://dl.doubtnut.com/l/_ZbIngDcJjbWV

1. Find the area of triangle with vertices (0, 0),

(4, 0) and (O, 5).

o View Text Solution

2. Which point lies on the perpendicular
bisector of the line segment joining the points

A (-3, 4) andB (3,4)?

o View Text Solution



https://dl.doubtnut.com/l/_ZbIngDcJjbWV
https://dl.doubtnut.com/l/_9YQ8TQ4rUS08

3. If the points (1, x), (5, 2) and (9, 5) are

collinear then find the value of x.

o View Text Solution

4. In which quadrant, the point which divides
the line segment joining the points (5, 4) and

(-6, -7) in the ratio 1: 3 internally lies?

° View Text Solution



https://dl.doubtnut.com/l/_y3KaLpGJbKBE
https://dl.doubtnut.com/l/_fZzghV8qTRrg

5. A(3,2)andB( — 2, 1) are two vertices of a

triangle ABC whose centroid G has the

5 1
coordinates (g, — §) Find the

coordinates of the third vertex C of the

triangle.

° Watch Video Solution

6. Find the point on x-axis which is equidistant

from (-2, 5) and (2, 3).

o View Text Solution



https://dl.doubtnut.com/l/_u0brGpontIsc
https://dl.doubtnut.com/l/_B8DryAo1ORoF

7. Find the condition that the points A(3, 4),
B(-5, -6) and C(x, y) may lie on the same

straight line.

o View Text Solution

8.In what ratio does the line x - y - 2= 0 divide
the line segment joining the points A(3,-1) and

B(8,9)?

o Watch Video Solution



https://dl.doubtnut.com/l/_B8DryAo1ORoF
https://dl.doubtnut.com/l/_3tzZPjBSCvkD
https://dl.doubtnut.com/l/_VflUv2WmIZQR

9. A(3,2)andB( — 2, 1) are two vertices of a

triangle ABC whose centroid G has the

5 1
coordinates (g, — §) Find the

coordinates of the third vertex C of the

triangle.

o Watch Video Solution

10.1f A(-5,7),B (-4,-5), C (-1,- 6) and D (4, 5) are
vertices of a quadrilateral, find the area of the

quadrilateral ABCD.

| s |


https://dl.doubtnut.com/l/_VVuARfX0XNXC
https://dl.doubtnut.com/l/_my9lTvYyTRE2

W View Text Solution



https://dl.doubtnut.com/l/_my9lTvYyTRE2

